a(6 @) (rad)

1072

H
S
o

a(d cot(B))

O = O 1.0
T 2] N . . T
o [ L : [A | S o € AE IR A E A B e
F | 5 ; :
L il’[ """"" A : ;
107 1 10 0 . 10° 107 1 10 0 . 10°
TP, (PCA t% beamling TP, (PCA t% beamline
[—— DQM_TT_MKFIT-DQM_origmar
—e— /data2/legianni/standalone-May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_mod_upflatedmod-127
—— DQM_TT__mkFit-DQM_update-mod127
—— DOM_TT__mkFit-DQM_127-updatemod127
- = 1
IS IS
e e
> 5
S 2
o [s]
107"
1072 1072
o107
T
o o

a0 p,/p,)

-

+

I 2 3
TPl[:? (PCA t%)obeamlin%)o

T



	Contents
	Page 1


